A A T P IIIII "3

ol iy et
T (B e value of ooy

:}"' :-E'-.-‘-t"rh-;h" TS b mdmii!tﬂiﬂ“"’h " e

@!‘4 v - & crvoe ab TR 1Eme

ik Rk e g consiamimtion e, e inccmmet 1 e S8
structure and can be amitked in the paraibesis of fnr...md-rr

=1

1. How mansy tmes. does cout << L
knt--i = &

da
gout =< 1 «< andl}
while | i+eg=d)

=
d. G
2 What wil

int ¢ = 1;
| egut << oF+
e |
_ (b 3

2
ST e e






ME e wiveh enabbos the usis Lo g

et 8 HR———
o ARG diiplay the tent "ONE® “TWO", - "NINE o ifes L.
other, gapectively

“l mﬁ" 1 !'. e w# e a oW el T ﬂ'l.u:hdt‘f f % 15 ardD
o dovslad w3}, prad “Ths %

& m mrwltiphe of 3 (10 1 wall have no s
‘ﬂlh lmﬂfl‘ uﬂmw-n.g, AN B ven a8
lh“ﬂli “

L% i
L - n

multyple O <




ORT PROBLEMS (15 Polntz)

Enlipmemg R ooy i

*‘.‘I o v il lkem Fﬂ"l.d l‘-"u'h' B hmEIE [ _Frsiniih
I o

] o
| BN e
e i -
o |
N 1 ' g & =
e S I L T
- b b
=
J
|

B plde it 0F

PFe RIS g i vkl Strackisie ':'lphl'l"hi
“emcer ¢

e T

mand -




& all af the aber
5 Whats :Iﬁll ;
A8t & = 3
It x ==}
W o= ﬂ;
sff »

E FEESEA A “:-: =
fincidds <iosboesme =

1 Wha i te cutpet of B g

LD DEmsInacE IR’
fnE naing

i
ine a = d, B = -8, £

& B ShpW g g £




LrE
T
b iy H L] v i

Lafar g

raall

[t 'n iy ¥ B ¢ EMaaiC L b

3 What is the m.lrput a@: Following program

melude < 1 onEEeAme
'JFJ namespacE aods

ig-main [}
int =0 §
Thilu{fﬁq“
: 5:31' R ? "T" : "ETV);

gy
o



	IMG_0530 (2)
	IMG_0531 (2)
	IMG_0532 (2)
	IMG_0533 (2)
	IMG_0534 (2)
	IMG_0535 (2)

